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=29 17,508
-g|2 E3D|ga fo1ddl L CCTV 29
790,000& * 1290& 9,480
-BI2 Eab|ga =2X TV 29
99,000& * 12913 1,188
-HDI2 MOt - "I E - =XE(SHEA) R
o1l 2 OV 29
570,000& * 129H& 6,840
OHAl oL & S XIE==H|
500,000& * 129H& 6,000
02 SE=29| 113,900 113,408 492
Oel=2t "3l 600
-St=nel= 2§l Halt|
300,000& * 13| 300
-ESUS20|=2E3 A3
300,000& * 13| 300
OdsteHME SA L& 2HERI
4703 * 1,0000H 470
OAIEEH RXBI(=Z4=,212)
13,200,000 13,200
o223 £ HMAl 81,236
-H3t 4,000 * 23|60 * 1204 %
A el Sk 500,000& * 129H& 6,000
-] 74.,000,000& 74,000
-FXHE SHEA HlAe
55,0008 * 129H& 660
-“RUYE= 10,000& * 1290 120
-CIHY 3= 30,000 » 1290 360
OdEHH| FXIE2 =4I 10,3%4
-CHIISAFRI10]
1,300,000& * 6CH * 5% * 70% 273
-Iglig 4,000,000& * 208 * 2% * 70% 112
—FAX 600,000& * 1CH * 2% * 70% 9
~&Al DA S/W, HW £=2/H]
10,000,000& * 14 10,000
OBPI2 MI} - Halehs - =XE(SHEA!) Al
AZH|IF Xl 8,000,000& 8,000
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FA Bdsiglt
S BotAZAE 2435
el Est2FAE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 40,000 50,000 10,000
OJ1& Al & HAHA 40,000
-JIE "Al 23 10,000,000& * 32l 30,000
“HAIH Mg 2208 23
5,000,000& * 23] 10,000
202 04| 6,912 7,29 N384
01 SLHoIH 6,912 7,296 N384
Ogzp|g2 AR 0]
6,912,000& 6,912
206 M=l 7,000 7,000
01 M=4l 7,000 7,000
Oxgde &3 € HIS 78
7,000,000 7,000
301 EtE NS 18,160 10,000 8,160
4 JIEt2 8= 18,160 10,000 8,160
Osts D2y ALY 18, 160
Y HESS SAEY
70,0003 * 4AlI2t = B2== 14,560
M2 MEgsts SA=E
40,0008 = 3AI2H » 38 * 102 3,600
401 AIEHIZ SR OHYI 30,000 30,000
01 Al&HI 30,000 30,000
ObI2 gap|ga |2+ At
10,000,000 10,000
OED|2 Aot - HatHE - =XE(3HE4) 20,000
-2gac 7,500,0008 * 23] 15,000
-=A 2= 3AH| 5,000,000& 5,000
405 KHaHE SH 500 1,400 A900
DT 500 500 0
OBUS stz o 7Y
10,000& * 50z 500
HH2LZH(BYss) 38,862 40,829 A1,967
[223HI(BMsrE 38,862 40,829 1,867
JI23Hl 38,862 40,829 1,867
201 et 3| 31,902 32,689 NT87
01 At2t2l] 30,920 31,707 AT87
Oget=ZH] 9,288,000& 9,288
Or==1:] 10,752,000 10,752
OSAD| Sit=
380,000& = 1CH * 12042 4,560
O&F=+I| Xz
50,0003 = 10H * 120HE 600
OdEEHl 425 24| 5,720
-Zol ey 4,400
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